Problem-4:

Part-(a)
The Two Sample T-Test is used when the two populations from which the samples are drawn are independent. In this problem, the two samples are dependent because they represent weights of the same chicken taken before & after a fixed time. Thus, the Paired T-Test is appropriate here. That is, the analysis from the Paired T-Test is correct.

Part-(b)

 The 95% confidence interval for the mean weight gain is 

(-0.0188,0.5228). (This is a Minitab output for the Paired T-Test analysis)

Part-(c)

 Hypotheses:   

          Ho: Average weight gain is 0

          Ha: Average weight gain is greater than 0.

Conclusion 

The P-value for the paired T-Test statistic is 0.031, thus we reject H0  for (>0.031 & conclude that the average weight gain is significantly greater than 0.

